
Geometry 7
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32 + 𝑥2 = 52

9 + 𝑥2 = 25
𝑥2 = 16
𝑥 = 4

62 + 42 = 𝑥2

36 + 16 = 𝑥2

52 = 𝑥2

𝑥 = 2 13
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232 + 62 = 𝑥2

529 + 36 = 𝑥2

565 = 𝑥2

𝑥 = 23.77 𝑓𝑡
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Use pythagorean theorem to find height: 152 + ℎ2 = 182

225 + ℎ2 = 324
ℎ2 = 99

ℎ = 3 11

𝐴 =
1

2
𝑏ℎ =

1

2
30 3 11 = 45 11 = 149𝑓𝑡2

Find height: 102 + ℎ2 = 262

100 + ℎ2 = 676
ℎ2 = 576
ℎ = 24

𝐴 =
1

2
20 24 = 240𝑚2
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Triple is 9, 12, 15
x = 15
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42 + 4 3
2
= 82

16 + 16 3 = 64
16 + 48 = 64

64 = 64
Yes
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3 + 4 > 6
7 > 6

32 + 42 ? 62

9 + 16 ? 36
25 < 36

obtuse

10



11



12



ΔEFG ~ ΔGFH ~ ΔEHG

𝐺𝐻

𝐸𝐺
=
𝐺𝐹

𝐸𝐹
𝑥

3
=
4

5

𝑥 =
12

5
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𝑥

9
=
5

𝑥
𝑥2 = 45

𝑥 = 3 5 = 6.708

𝑦

5
=
8

𝑦
𝑦2 = 40

𝑦 = 2 10 = 6.325
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ANS:  other leg is 10, and hypotenuse is found by 10/1 = x/2  x = 102
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ANS: 2 and 23
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The triangles are similar by AA similarity
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tan 𝐽 =
24

32
=
3

4

tan𝐾 =
32

24
=
4

3

tan 𝐽 =
8

15

tan𝐾 =
15

8
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tan 61° =
22

𝑥
𝑥 tan 61° = 22

𝑥 =
22

tan 61°
= 12.2

tan 56° =
𝑥

13
13 tan 56° = 𝑥 = 19.3
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SOH = Sine Opposite Hypotenuse
CAH = Cosine Adjacent Hypotenuse
TOA = Tangent Opposite Adjacent
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sin𝑋 =
8

17

cos 𝑋 =
15

17

tan𝑋 =
8

15
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sin 35° =
11

𝑥
𝑥 ⋅ sin 35° = 11

𝑥 =
11

sin 35°
= 19.2 𝑓𝑡
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sin 50° =
𝑥

1000
1000 ⋅ sin 50° = 𝑥

𝑥 = 766𝑓𝑡
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𝐷 = sin−1 0.54 = 32.7

𝐶 = tan−1
20

15
= 53.1
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40° + 𝐵 + 90° = 180°
𝐵 = 50°

cos 40° =
𝐴𝐶

20
𝐴𝐶 = 20 cos 40° = 15.3

sin 40° =
𝐵𝐶

20
𝐵𝐶 = 20 sin 40° = 12.9
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Only use two of the ratios at a time.
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Find x: 
sin 102°

3
=

sin 17°

𝑥

𝑥 ⋅ sin 102° = 3 ⋅ sin 17°

𝑥 =
3 ⋅ sin 17°

sin 102°
= 0.897

Find ∠𝐽: ∠𝐽 = 180° − 102° − 17° = 61°

Find y: 
sin 102°

3
=

sin 61°

𝑦

𝑦 ⋅ sin 102° = 3 ⋅ sin 61°

𝑦 =
3 ⋅ sin 61°

sin 102°
= 2.682

Subtract: 2.682 − 0.897 = 1.785 𝑚𝑖𝑙𝑒𝑠
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𝑓2 = 92 + 122 − 2 ⋅ 9 ⋅ 12 ⋅ cos 46°
𝑓2 = 74.9538
𝑓 = 8.66 𝑖𝑛
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